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1, 3w [ ard 1 area dog Sivesn gean ik 9va v fae

8
W atEe
9. st
%. Tt ga
g, HERH
I TN

at q ®
1 1 III I
2 IV Il 111
@ 1Im v i
4 I III v

Match List I with List II and select the corre;:t answer from the options given :

ListI
a. Erdkunde
b.  Anthropo-Geographie
c.  Geografia Humana

d. Cosmos

Answer Options :

a b c
1) I III I
2 IV II I
(3) III v IT
4 1 - I v

IL
IIL.

I—II—IE“

I
IL

ILI.
IV.

(-3

I
I
II

I 11

st g
#rd e
Shefeh Teda

List I

Alexander von Humboldt
Jean Brunhes

Carl Ritter

Friedrich Ratzel

F11
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2. W RuEh g ard @refiensh S fRum st om 3 ol
e 57 - gt 24 M) 360° @ R,
e ‘T - S e SenswE gedten 9w fifrern seed et
(1) Taum ‘@ anfor ¥ G S0 aIRA
(2) faum ‘o snfn T A < e
(3) Toum ‘o =R o7 fawm T F oMy
(4) Toum ‘o T v fem % wde o
Examine the following statements and identify the correct statement/s :
Statement ‘A’ : Within 24 hours the Earth rotates in 360° longitudes.
Statement ‘B’ : The Earth requires four minutes to cross the one degree longitude.
(1) Statements ‘A’ and ‘B’ are correct
(2) Statements ‘A’ énd ‘B’ are incorrect

(3) Statement ‘A’ is correct bui statement ‘B’ is incorrect

(4) Statement ‘A’ is incorrect but statement ‘B’ is correct

8. Wil HIUG Y& Y-3ariq IhaT TR 7187 ?
(1) %A
(2) e vEd
(3) afire wda

(4) w@If

Which of the following relief features is rot an effect of internal forces of the Earth ?
(1) Graben

(2) Horst

(3) Residual Mountain

(4) Rift Valley

FoeAT TS JRT / SPACE FOR ROUGH WORK




,  www.dompsc.com .,

H q
(1) e wreet o Y g
@ Wramag  fewg
(3) itk wewl Wig afis aew wE
@ R 3ifhs o v
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firet o afts e g
Ay I e o’ W%
faet ¥ wing g
+f= oo Wi dfi g

Select the proper option from the’ following figures of ‘Relief Features’ created by

volecanic eruption :

(1) Acid Lava Cone

Mixed Cone
(2) Basic Lava Cone Cinder Cone
(3) Acid Lava Cone Basic Lava Cone
{(4) Cinder Cone Acid Lava Cone

Cinder Cone Basic Lava Cone
Mixed Cone Acid Lava Cone
Cinder Cone Mixed Cone
Basic Lava Cone  Mixed Cone

Tl HTHTETS FT / SPACE FOR ROUGH WORK

N e

P.T.O.




www.dompsc.com

.F41 A
5. fySgONg qehe TR T STt 99 A e,
(1) vfeed ar, s ar, godT ar
(2) =t AR, gfved R, gedg an
(3) = aw, gdT T, iR R
(4) -yt 9w, afvedt an, =t 9
Find out the correct sequence of planetary winds found from the equator to pole.
(1) Westerlies, Trade winds, Polar winds |
(2) Trade winds, Westerlies, Polar winds
(3) Trade winds, Polar winds, Westerlies
(4) Polar winds, Westerlies, Trade winds
6. et 3 fun smea. sl (A1) 2 Rrum s/F (D) R T w00 A @refie R walhitd
Irg Wiy e
fayr (37) . Tagageia vewmred qEmt A = oA,
FROT (7). fagagdm ww @ R wRwE, sweelta s i s @ ey
HEAAT IR, -
(1) (37) =i (7) 3 5w am@ () 2 () 2 Tovgs oo R
(2 (%) i (1) =D v g7 () @ (31) A Fores s T
(3) () T o7 (1) FET AR
(4) (¥) e G (V) ¥ IR o -
Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select your answer from the following options.
Assertion (A) : Oceanic salinity is low in the equatorial region.
Reason (R): Equatorial region is characterized by heavy rainfall, cloudiness and
humidity. '
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both {A) and (R) are true but (R) is not the correct explanation of (A}
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
7. Geitotd Sm et fagroms g 7777 2

(1) i (2) wofipr (STTRiiTH)
(3) waira i (FEATE) 4) smwEr
Which of the following is net a type of chemical weathering ?

(1) Solution {2} Oxidation

(3) Carbonation (4) Corrosion

FOEAT FTATHIST AR | SPACE FOR ROUGH WORK
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el o fumA siear :

fremear fafire FrawET SUfes STFRAFTSA 79d FESS JTE YHT SRS o
= T T AR B, '

fasm g : Tt Py s onfor e AMWETER o e U 9T 9nYT Wbt
=1 et faftre s mevar.

(1) Frm or onftr @ O St M

(2) faum @ s @ S <@ e

(3) Tym o TN 97 Fem ® 9% IR

(4) w97 9% I fwm =& = am

Identify the correct statement/s from the following :

Statement ‘A’: The weight of water vapour per unit volume of air in specific
temperature is called relative humidity.

Statement ‘B’ : Specific humidity is the ratio of air water vapour content to its
water vapour capacity at a given temperature.

(1) Statements ‘A’ and ‘B’ both are correct

(2) Statements ‘A’ and ‘B’ both are incorrect

(3) Statement ‘A’ is correct but statement ‘B’ is incorrect
(4) Statement ‘A’ is incorrect but statement ‘B’ is correct

F11

9.

Trefiads g A o |
frT (37) : AT REnd THATIRYT THRRIE 9 SO Sa@ads FHI AT
FRE (T} : WEE TN q9EE ST SRR g 3TEd.

(1) () 7 (2) 38 T 3T M (3) R (31) 3 T wrh IR

(2) ()T X) I AW 37 WY () ¥ () F T WL T

(3) (=) 3 TR AR T (T) } IF IR

4 ()} It g (3) B WR 3

Identify the correct statement/s from the following :

Assertion (4) : The isotherm lines remain almost parallel to one another and parallel
to latitudes on oceanic surfaces.

Reason (R): Temperatures at maritime locations are free from effect of elevation.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R} is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4} (A) is false but (R) is true
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10. Gl faunien fen wea fees Wi fas s,
A, T Sl e IR AAvE F (@, T ATME 7O A TG g,
4. Jech SwEReia Al grvamed wda) Resia areielt e,
F. I A1 4T AYZ TSR Ay arewErd) e @ e S,
T WRARE JFdia FAEl sor aREd yeren afte gewrdt .
it I .
(1) A &1 anfr 9 Tew SR
2) Fram a1 snfr % wew ImRT
(3) fum v, % i 5 & A
(4) R &, 9 f % g ARa

Consider the following statements and select the correct option from the following :
a. Most of the fishing grounds occur in areas where the continental shelf is wide.
b. Fishing activity is well deveioped in warm tropical waters.
¢.  Mixing of warm and cold currents brings plant nutrients for fish.
d. Inland fisheries are more significant than other types in India.
Answer Options :
(1) Statements a and b are correct
(2) Statements a and c are correct
{3) Statements b, ¢ and d are correct
{4) Statements a, b and ¢ are correct

11, Tawamie dume diswen @y .
(1) &g I AIfor &2 wen
(2) %% wmn i &7 W
(8) ¥g I IIfor sveg e
(4) Eg 9T M I W
. In developing countries the population pyramid has a
(1) Narrow base and wide top
{2) Wide base and wide top
(3) Wide base and narrow top
(4) Narrow base and narrow top

ToeqT BTHTAEIS AR | SPACE FOR ROUGH WORK
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wrefte i gegar qumr sufr @ geie feer

fgr ‘3 ;  ARATE HE YT IR MM IET FE L-9m R Temafa sma.
Ry F ;R gidvier e gar 7500 f. Yan g 9 ok

(1) faem ‘& snfer @ G sl g

@ fauR o anfn 9 R 9% sma

@) Rum ‘o e e AR T IF o

(4) faum ‘oF 9% g favm ¥ sl o

Examine the following statements and select the correct option :

F11

Statement ‘A’: Some land area of India is situated in the northern hemisphere and
some in the southern hemisphere. '

~ Statement ‘B’ : The extension of India from north to south is approximately more

- than 7500 km.
(1) Statements ‘A’ and ‘B’ both are correct
(2) Statements ‘A’ and ‘B’ both are incorrect
(3) Statement ‘A’ is correct but statement ‘B’ is incorrect.

(4) Statement ‘A’ is incorrect but statement ‘B’ is correct

18.

wreliel framr gogar Taen snf g gaiE e .

fay ‘% ;  fewer W @ femeETear oRs U o REelis dhsar ur we g wewm
YAY AT,

g T ;. TEERE T WS i ween WeEaTgT i,
(1) fuw ‘o7 sfr ‘F et ateR mRa

(2) foum ‘s snftr 9 Pt 3= amda

(3) faum ‘O @ I o 9 9w om

(4) foum ‘or 9% gy faum T wE sk

Examine the following statements and select the correct option. :

Statement ‘A’: Himalayan rivers cross many Himalayan ranges and the Shivalik
Hills and enter into the plain area,

Statement ‘B’: Peninsular rivers flow through the rift valleys created by faults .‘
(1) Statements ‘A" and ‘B’ both are correct

(2) Statements ‘A’ and B’ both are incorrect

(3) Statement ‘A’ is correct but statement ‘B’ is incorrect

(4) Statement ‘A’ is incorrect but statement ‘B’ is correct
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14. TSSRY T SoRT e @ wun e smRa ?
(1) o &=
(2) e
(3) wietw asi
(4) S Wi

The rain fed and rain shadow areas are the characteristics of
(1) Cyclonic rainfall

(2) Convectional rainfall

(3) Orographic rainfall

(40 Thermal rainfall

15. Wi afmed Forey vewnsh anda ?
A AcETEdHAE IIGE AR
9. RSN IUEA vad I
F.  WRAHEE FIFR I
3.  WeHEEd Hehdd SEa!
Tt I
(1) IR fgE R
(2) g vl waw
(3) feramadt wam
(4) femerfm wdm

Which region has the following characteristics ?
a. Useful for water transport |

b. Production of coconut is taken up
Favourable for fishing

d. Attraction for tourists

e

Answer Options :

(1) North-India Plain Region
(2) Peningsular Plateau

(3) Coastal Plains

(4) Himalayan Region

T FTATE SO { SPACE FOR ROUGH WORK
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16. UNEP =T St i wque i e seamiea e 3a41 :
5T Trepy
A, AR LS I g
T R gEgeET II. =
%, A0S , II. &=
3. AESRIES IV. =8 il
gt I
B T F T
1 1 11 m v
2y IV 111 II I
3 m . I - v I
@ m I 10 v
Match the following Pollutants and their Mediums as per the UNEP documents :
Pollutant Medium
a. Nitrogen oxides L Sea
b. Petroleum hydrocarbons II.  Food
c Fluorides - III. Air
d. Mpycotoxins IV. Fresh water
Answer Options
a b c d
1n I 1I 111 v
2 1Iv 111 I1 I
3) 1II I v II
@ m 1 I v
17. wgw Ugrea HEEh Wiefladhl star e amfas iein feaw wop Fas % om 2
(1 1 . (2) BT
(3 1ud= (4) 169<=
Which of the following days is designated as World Ozone Day by the U.N. General
Assembly ?
(1) 15t June (2) 5% June
(3) 1% September - (4) 16 September

o1 BETATS! SR / SPACE FOR ROUGH WORK P.T.O.
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18,  wrEfledht Fva gfae arg agf are Affe o 2
(1) Fem (2) I SIFATEISE
(3) AZE Aaams (4) FIRTRRET
Which of the following greenhouse gases is entirely produced by human activities ?
(1) Methane (2) Carbon dioxide
'(8) Nitrous oxide | (4) Chlorofluorocarbons
19, 3 T SIS AW THHUTEEE NN U Hieger Jmal.
(1) FH-AR 2) T
(3) FHLH 4) TH-TN
The transitional area between two living organisms is known as
- (1) Ecozone {2) Ecophos
{3) Ecotone (4) Ecotype

20, wEHERR FEn JE RS TMiNE SEEEE w5 A 7
A, 8000 ISTAE €O SRS
g, a1 i srfaeRw g AT
%F. 5000 Feiurgy dondt @rEae! Wi
3. shenfies sifa
T I
(1) & 8
(2) wEa® afis
(3) SHT, FAMs
(4) ol ad _
The impact of humans on global climate has been induced by which of the following ?
a Deforestation since 8000 years
b. Use of fire and overgrazing
e.  Wet paddy cultivation since 5000 years
d. Industrial revolution
Answer Options:
(1) Onlyd
(2) Onlycandd

(3) Onlyb,candd
(4) All of the above

T SIS IR / SPACE FOR ROUGH WORK
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A
21. Y TN A g S fowndl e wREE g T e 7787 ?
A, TSThen () - 7. Pk (sfme)
$. PR (9. FT) 8. R (FRGS)
it 3N ;
(1) a4 F R 9 (2) R H
(3) wHE3 o 4) wRAAME
At which of the following places was an iron and steel factory not started during the
Second Five Year Plan ?
a. ' Rourkela (Orissa) b. Bhilai (Chhattisgarh)
¢.  Durgapur (West Bengal) d. Bokaro (Jharkhand)
Answer Options: '
(1) Onlyaandb (2) Onlyc
(3) Onlyd (4) Onlyaandd
22, feumaria wofivg e Al Fm geh JEana 77t ?
S I )G a.  we
%. uahfida ae : 3 &
it 3w
(1) w¥a A onfr 9 (2) wEaw Afrg
(3) wH3 (4) SR F
Which of the following is/are not the supply-side factor/s respons1ble for inflation ?
a. Increase in export b. Store
¢. Increase in credit creation d. Famine
Answer Options : _
(1) Onlyaandb "~ (2) Onlycandd
(3) Onlyd (4) Onlyc
23. Ao Siviar dew JiguRiidw SR am ?
A, WEER MEFR GHE 96
*. g s T 369 a9 § WisdeTHd!
waieft I |
(1) w4 1 anfor & (2) TR H, ®AMZ
(3) o a s (4) wFG @ AN &
Which of the following factors are not responsible for poverty ?
a. Inflation b. Increase in Government expenditure
c.  Deficit Financing d. Short savings and Capital formation
Answer Options : .
(1) Onlyaande ' (2) Onlya,candd
(3) Onlybandd (4) Onlybandc

T HHTATS! W / SPACE FOR ROUGH WORK P.T.0.
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24, %Wmﬁmmmmmmﬁ’wmaﬂﬁmﬂ
TRt HiveT S A4 ?
(1) Frog g - (2) WRy e
(3) =0 I (4) i A

“Absence of minimum income to get the minimum needs of life” is concerned with
which of the following types of poverty ? -

(1) Absolute poverty (2) Relative poverty
(3) Both the above (4) None of the above

25, 37 G $EY, 2013 = TN TEess! i famfaae fas.
A qFE 75% unita § 50% el diwEEial FE YEE AN IIAY FE 2
g, aern a6 € 3wt aigs, v.f6. T 2 v IRwe a3 u.hs = 1 T

g I7g IR AR,
it I \
(1) I = o § =R (2) Id A TIE
(3) % 3 WA (4) R o UL

Identify the correct statement/s in context of the Food Security Act, 2013.
a. It gives legal entitlement of food security to 75% rural and 50% urban
population.

b. A beneficiary will be entitled rice, coarse cereals and wheat @ T 3, ¥ 2 and
¥ 1 per kg per month respectively.

Answer Options :

(1) Both aand b are correct (2) Both a and b are incorrect

(3) Only a is correct (4) Only b is correct

28,  WIH SHTUR S7EETE, 2011 TE THN TE Sebieiea R THh M SieeE R 2

(1) 165 TF&* (2) 173 T* (3) 175 =% (4) 17-7 T

What is the percentage of Indian population in the population of the world according
to the Indian Census Report, 2011 ?

(1) 165 percent (2) 17-3percent (3) 17-5percent (4) 17-7 percent

27. TEANH Fo AHEET DOMIER YR e e frm 3w 21 5% 3 feme femm

99 18 98 FAfFad Foan oS ?
(1) TS HiwEE 9Re, 1976 (2) U wehEEE G, 1977
(3) TN iwaEar Ure, 2000 (4) wrwEE afysEY (2001 — 2026)

Which of the following population policies decided the minimum marriage age
as 21 years for males and 18 years for females ?

(1) National Population Policy, 1976  (2) National Population Policy, 1977

(3) National Population Policy, 2000  (4) Population Projections (2001 — 2026)

ToeT HHTAI ST | SPACE FOR ROUGH WORK
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WA BT A HR IR AT GO a1 SN g S AR 2

A AW gl e |

¥, U @ fa g

 w, NG gEe g8 e

it 3ut :

(1) %aa A A 7 (2) WA
(3) R % S (4) =0aud

Which of the following programmes is/are started by the Government of India for the
purpose of ‘Sacial Security’ ? ,

a. Aam Aadmi Bima Yojana

b. Rashtriya Swasthya Bima.Yojana

c.  National Social Assistance Programme

Answer Options :

(1) Onlyaandb (2) Onlybandc
(8) Onlyc (4) All of the ahove

e T IR (GNT) ATt Thedh! St vew wafd amia ?
H. U IOA

¥, Ygfils gamme e

F.  EO B

it I

(1) % & A0 F C(2) wEd A

(3) wH &« (4) = &

Which of the following factors is/are concerned in the calculation of Green National
Income (GNI) ?

a. National Income

b. Depletion of Natural Resources

c¢.  Environmental Degradation

Answer Options ;

(1) Onlyaandc (2) Onlya

3) Onlyaandb (4) All of the above
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30. ‘vzers faEW Tgl (MDGs) el qielehl w2 A A A0 ?
N TgmaAYE
9. TRl GaeE
F. TR e
e, fopaed amfes s
Tl I

(1) & 3 i1 @ (2) % % A g

(8) wa A, q % (4) shawd

Which of the following are measured in Millennium Development Goals (MDGs) ?
a. Poverty and Hunger

b. Womens Empowerment

¢. Environmental Sustainability

d. Global Partnerships for Development

Answer Options :

(1) Onlyaandb {2) Onlycandd

(3) Onlya,bandc (4) All of the above

31. TN F SreThedT FOHE) TETIE FHI] FITET SETSE A 7
A e Har A
§.  WUEEEH A SE AN
% U g Al
8. ST g S
- Oy I ;
(1) % 31 Mo & (2) W o 200 g
(8) Wk &, T AM&H (4) =0sad
Which of the following schemes are included in women and child development
schemes ?
a. Anganwadi Services Scheme
b.  Pradhan Mantri Matru Vandana Scheme
¢.  National Nutrition Mission
d. Child Protection Scheme
Answer Options :
(1) Onlyaandb ' (2) Onlycandd
(8) Onlya bandc ) {4) All of the above

FEEYT IS ST / SPACE FOR ROUGH WORK
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32,  ZifGw WeRarea FacAd RO T AR Il AR T A M TR
A TR AR, SR
. UEo AT TEEISTI B I Wi AR,
4.  YoerTaEde st ¥ Awiaie (TERR) Sacied e,
%, 34 T T W Aivg T niEmdia g are. -
3. Hiuarst T aEt aredi.

'-'I'II‘H'\‘EH‘{
(1) ad 1 AT g (2) od @ T =
(3) wad % fr g . 4) tw gd

In any poverty reduction | strategy there is a need to | incorporate both
self-employment and wage employment, because

a. Self-employmelit is a major form of employment in rural areas.

b. Dependence on wage employment will lea_d to total dependence on the
' employer. _

c. Otherwise it will increase the gap between the rich and the poor.

d. It will strengthen the asset base of the rich. |

Answer Options : _
(1) Onlyaandb (2) Onlybandc
(3) Onlycandd _ (4) All of the abave
33. ‘arh Tifee fdare & deea Enem T IEATa Wiseh Tieft.

(1) 7w fom s, 1990

(2) wm= form srEaE, 1997 |

(3) THa feFm sgEmwT, 2001

(4) LIEC ﬁlﬂ?l'ﬂ IEat, 2014

The concept of Human Poverty Index (HPI) was introduced in the .
(1) ﬁuman Development Report, 1990

(2) Human Development Report, 1997

(3) Human Development Report, 2001

(4) Human Development Report, 2014
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84,  Rrowric TR A WA HEE A1E 3 T D3 AEE IR R T TR
A TG FIOEA FEN T4
¥, AT & AN g gl T
%, VRO 91 € I IRV AREEIYE e T

gt s :
(1) 21, g3 (2) Hor«
(3) wHfr® 4) 2 Fr =

The phenomenal growth of ‘census towns’ is a challenge as these towns
a. Do not have urban governance structure
b. Do not have the requisite urban infrastructure

c.  Result out of rapid population growth

Answer Options :
(1) a,bandc (2) Onlyaandb
(3) Onlybandc (4) Onlyaandc

35. SRS SEETS AN (2012 - 17) IE SR SR 69 2
(1) sufte 3fz 7 o Frema wed)
(2) g g4t 9 o am
(3) TG T AfrH HAEHENS Fig VYA
(4) o, wvEd At Afte wdwETE dlg At
Which of the following was the aim of the Twelfth Five Yeaf Plan (2012 -17)?
(1) To achieve economic growth and stable development |
(2) To achieve faster growth and development
(3) To achieve faster and more inclusive growth

(4) To achieve faster, sustainable and more inclusive growth

VLT THTAIS! ST / SPACE FOR ROUGH WORK
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Tl B AR A (GEO) S ST aulq @ ?
(1) SqEEErRAgTEEs= 3= 20,000 f.3. 2w S gfomong 12 958 @,
(2) WEIRINEAE 36 36,000 %, 3 wF g1 9iywe 24 719 @R,
3) A S 400 R5A, 3 o T v 90 BfR v,
@) T FacAig T
Which of the following describes the Geostationary Orbit (GEO) correctly ?
(1) Altitude of 20,000 km above the sea level and the orbital period is 12 hours.
(2) Altitude of 36,000 km above the sea level and the orbital period is 24 hours.
(3) Altitude of 400 km above the sea level and the orbital period is 90 minutes.
(4) None of the above '

37, Yudeq IEEM 7 (L) Qi fHva weE sEded T ?
(1) N T FIRAFTI 3
(2) Bhoelt &
(8) feow a grevir=ht "o aidie 3
(4) afier & '
In Fresnel’s Biprism, the value of' wavelength (A} depends upon
(1) The distance between two coherent sources
(2) The fringe-width
(3) The distance between slit and eyepiece of telescope
(4) Al of the above |

38, W Ed HOAR TR GYTH #A 50 cm T8, A e <A T e i o e

IS ?
(1) 50 cm, I (2) 50 cm, 9%
(3) 25 cm, AGEF , (4) 25 cm, SREs®

What focal length should the spectacles have for a person for whom the least
distance of distinct vision is 50 ¢cm ?

(1) 50 cm, concave (2) 50 cm, convex
(3) 25em, concave (4) 25 cm, convex

T PTIATS! STR / SPACE FOR ROUGH WORK P.T.O
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39, 10 3fiew=T Ay 12 V =1 Rrgever e Jur@ 11Aﬁgﬂﬂmam% Teremeera siata
UY *Mal.
(1) 100 : _ ' 2) 01Q
(3) IO'BQ _ 4 091Q
A resistor of 10 Q connected across a cell of emf 12 V, draws the current of 1:1 A
Find the internal resistance of the cell.
1 10Q (2 01Q
(3) 10-9Q (4) 091Q
40. uHEAwNgd 1 Eferdier sauat sl da wuim ardly yemgy 1 dier HavEt Jaeen
TR, WWOWWWWWWWW
AR Jeriafier e fenedt 2
(1)  50mm (2) 0-5mm
(3) 50cm {4y 005mm
Two parallel slits 1 millimetre apart are placed 1 metre away from the screen. What
is the fringe separation due to interference effect, when a beam of wavelength
500 nanometres is incident on them ?
(1) 50mm ' . (2) 0-5mm
(3) 50cm (4} 005 mm
41, TH Tk N 36 x 10° J/min R IO FEE Q. ANET $RA 54 x 108 J/min

2 FH W, o T sy Rl o e 0
(1) 15% 2y 125%
3) 85% (4) 875%

A steam engine delivers 54 x 108 J of work per minute by taking 3-6 x 10° J of heat
from its source. What is the efficiency of the engine ?

(1) 15% (2) 12:5%
(3 85% 4) 875%

FOE] FHATS AR / SPACE FOR ROUGH WORK




www.dompsc.com

A F11
42, FE FEWEH AT FANGTS Al BIF T Gl §ohS UgT T 1S IR Aal, T
WeT TEUTIT.
(1) T ‘ (2) U Sl
(3) sEEw (4) figa g

In some trees, copper deficiency may cause blisters and deep slits in the bark from
which exudes gum. This disease is known as

(1) Exanthema (2) White bud
(3). Dieback ‘ (4) Necrosis

43, e Wiss siffesm e sftman et ATP waw gma ?
(1) 37 (2) 44
(3) 60 - (4) 50
The maximum yield of ATP from the complete oxidation of sucrose via aerobic
respiration is :
(1) 37 (2) 44
(3) 60 : (4) 50

44, ﬁﬁ(a@ﬁﬁ)mm%ﬁﬁvﬁ@ﬁﬁﬁ?

(1) Few foFmm (2) o AT T

(3) Taoimres (4) wEA

The binomial system of classification was given by

(1) Carolus Linnaeus (2) Bentham and Hooker

(3) Theophrastus (4) Hutchinson

45. W A 9w, T e, IATER SiEa wo= oTie Hfew YR swie WitE @

. umism@eus?
(1) worded e (2) i o faga
(3) oA frgra 4) 7@ T= faga

According to Sir J.C. Bose, an Indian scientist, ascent of sap takes place due to the
of living cells of the innermost cortical layer.

(1) pulsatory activity (2) - transpiration pull theory
(8) cohesion theory (4) root pressure theory
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Trehath Forht o e fagm Shaa seerdish weive onda 2
A, afls Padrn fagia

9. I«itadd sohdeT Riga

%. 9w 3l e Rigid

5. foamfagm

woid Im .

(1) ¥, &30s 2 A, qanuH

(3) o, FHAMre (4) sherad .
" Which of the following theories are related to evolution of life ?

The theory of natural selection

a

b. Mutation theory of evolution

¢.  Theory of inheritance of acquired characteristics

d. Theory of segregation

Answer Options:

(1) a,bandd (2) a,bandec

(3) a,candd (4) All of the above

47.

8
b. STH

Wrefetdl R G figeh Thh smem ?

# R |

. TwERwE.

. Tg.HLh.

T i

i I

(1) Fanfrs (2) & anfr=

(3) , wanfirg (4) A, 9 H

Which of the following are hormones of the pituitary gland ?
TSH

HCG

d. ADH

Answer Options :

(1) aandb (2) bandc
(3) a,bandd (4) a,bandc

o

FPeET FTHIEIE) ST / SPACE FOR ROUGH WORK




48.

www.dompsc.com

g § Geliedsh S HH wa ?

A wE

. TR/

F. g gadan

8. GR™ dayA/aTe

qatdt Im

(1) I, T

(2) a1, A0S

(3) A, FHAMS

4) afia wd ' |
The skeletal system performs which of the following functions ?
Protection

Hematopoiesis

Fi1

Movement facilitation

SR~ A

Mineral storage
Answer Options:
(1) a,bandc

(2) b,candd

(38) a,candd

(4) All of the above

49,

ﬁnﬁiﬁsaamaawmﬁwaﬂmﬁﬂéaﬁ Wmmwﬁﬁﬁmﬁzﬁm.
R AN GHiN gt o g ?

(1) e TE (e |iEh)

(2) we e (qufh)

(3) IR TS

(4) HH "IHS

Gregor Mendel is often referred to as the Father of Genetics, since he first
enunciated the principles of heredity. His experimental material was

(1) Fruitfly

(2) Bread mould
(3) Pea plant

(4) Rhesus monkey

i) m'o‘}wrr | SPACE FOR ROUGH WORK P.T.O.
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50. ‘M2 Yeied Siafer fisd wedl Ca, M 2T Ba® ___ M.
{1) Be (2) Mg (3> Sr 4) I
The element M in the Dobereiner triad Ca, M and Ba is
(1) Be (2) Mg (3 Sr (4). I
5l. ETET AHEIA TRURE
(1) frera (2) T
(3) e P (4) JEENie FeRmE
Wood grain alcohol is nothing but
(1) Methanol (2) Ethanol
(3) Benzyl alcohol (4) Isopropyl alcohol
52, VAT Firis “gH! fmesan S
(1) oAifRIeA = ymmT ared (2) g Ao
(3) IS FrEAT (4) 7 fuem wEgn TeEwEE
Water is often treated with chlorine to
(1) Increase oxygen content (2) Kill germs
(3) Remove sedimentation ‘ " (4) Remove insoluble impurities
53. TR T G g,
(1) wa Wifew sl (2) W TEERE At
@) FI]W| D@ (4) RIS T
Corrosion takes place as a result of
(1) Only physical reactions {2) Only chemical reactions
{(3) Both (1) and (2) {4) None of the above
54. afite ayms X WU A e 34,
Q) gx (2) WA (3) Bl 4) 9
Natural gas mainly consists of
(1} Butane (2) Propane (3) Methane (4) Ethane
55. filF wiamdie lviean g el 21 dw fresd ?

(1) e (2) fafrs (3) m 4) =
Fats and oils belong to the naturally occurring group of compounds called
(1) Carbohydrates (2) Lipids (3) Proteins (4) Terpenes -
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56. AT ToAuI=AT Gieetehl B WO 26 W 1949 Jaft ey e ?
S T T 4. aTvEm (FeM-324).
%, AR §9g | g WE@ ANER
it Im ; :
(D) HA,TxWF (2 w3 AFrsds (¢4 JAWT
On 26th November, 1849, which of the following provisions of the Constitution of
India came into effect ? _
a. Citizenship b. Elections (Article-324)
¢.  Provisional Parliament d. Fundamental Rights
Answer Options : , :
(1) a,bande (2) b,candd (3) aandc (4) aandb
57. GIifieds HIET W memwmmm
- oI AuR TR s iy fen 2
(1) vl R fGEg IRa TR
2 TeEy Eg e T
(3) FyEre W faeg e T
(4) Theext fireq fa. fosg W waw
In which of the following cases did the Supreme Court of India pronounce the verdict
that the basic structure of the Constitution cannot be amended by the Parliament ?
(1) Shankari Prasad vs Unien of India .
(2) Golaknath vs State of Punjab
(3) Kesavananda Bharti vs State of Kerala
(4) Minerva Mills Ltd. vs Union of India
5B, WR@TSHT IURTd ed @reladhl B e g@e R ?

A wmmmmwmﬁaﬁamm
. %m%ﬁﬁnﬁwnﬁmmmmmmm

TR T AHAN.

F. T wrEw Aesrfad R 20 wagR § YeEE AT 20 WagR ¥ SAIEiGE e
T . _

1 = 2 = 3 % (4) = T

Which one of the following statements about the Vice-President of India is

incorrect ?

a. The electoral college for election to this office consists of the elected members of
both the Houses of Parliament.

b.  He can-hold the office of the President for a period not exceeding six months in
the absence of the President.

c¢.  For election to this office a candidate’s nomination paper must be subscribed by
at least 20 electors as proposers and 20 electors as seconders.

(1) a 2 b @ ¢ ' (4) Noune of the above
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wreita faum faam an -

A, Tl feat @ v deen aﬂ%ﬁ

9. Yayud } @4 fvri afg areaw vevE  wam.

% S g 7 A Remi vt snas v s wed,

T aF e ol Rt ofweie dgaa S sraaRa™ FE Teeh quf.
(1) R o, ot s e @) Frmd g, w anftr g a0

(3) faur =1, = anftn € s 4y faumd 5 i 5 |Om
Consider the following statements :

Zonal Councils are the constitutional bodies.

The Prime Minister acts as the Chairman of all Zonal Councils.

Each Chief Minister acts as the Vice-Chairman of the Zonal Council by rotation.
Joint meetings of two or more Zonal Councils are presided over by the Union
Home Minister. - .

(1) Statements a, b and e are correct (2) Statements b, ¢c and d are correct

(3) Statements a, ¢ and d are correct (4) Statements c and d are correct

S L

TNEF AEAEIT gl JAEhR AT AEPTE TeTea SEarendter PRt
TR .
A, Th O REEA e AIeEET et G4 TRUNS) §UM RERHY SRdE
4. T GEN SHIA-SNHYF T HUed.

% RN W Tae.

g, foom 1z wR SUdid onfr AR g |t v a1 w0,

it I

(1) 2,9 s (2) &, % A0S

(3) ¥, s 4) &, 9, % IS

Recommendations of the Sixth Report of Second Administrative Reforms

Commission on Local Government are _

a. Set up unified metropolitan transport authority in all cities of one million plus
population.

b.  Constitute a local body ombudsman.

c¢.  Direct election of the Mayors.

d.  Set up District Councils and the Collector would work as the Chief Secretary.

Answer Options :
(1) a,bande (2) b,candd
{3) a,candd (4) a,b,candd

FTEqT HIHMATST AR / SPACE FOR ROUGH WORK
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61. Wrialhl Fudt wrigd® o @ Yo Tuesar WM 7@gd, 9 el §EeW A6

EAIGERItER Jew 7

A, I e w5 =

¥, AETE W&V 9 e Al aH a a ey e F.

%. HOH HWEEA S TETH T 3.

8. [ AT wad i weE diwn FEeas aer.

3. ud i saeiiadh g oy gifim

1) #A, T F (2) ¥, HTUOE

(3) %, zafrg @ @1, 7afrs

Which of the following Directive Principles did not form part of the original
Constitution and were added through constitutional amendments ?

a. To minimise inequality in income.

b. To protect and improve the environment and to safeguard forests and wildlife.
¢. Equal pay for equal work for both men and women.

d. To ensure equal justice and free legal aid to the poor.

e. To secure adequate means of livelihood for all citizens.
(1} a,bandc (2) b,candd
(3) e, dande (4) a,bandd

62. @R FE fFan Tt amd 7

9, HEE T HH FF Uhd A8,

%. WG B € B 6.

‘8. WHE W Fieq A TE.

3. O B HR RE e

(1) 31, % afors - (2 9, Faine
(3) &, 3 anus (4) % aforg

Which of the following statements are correct ?

a. Parliament can increase a tax.

b. Parliament cannot reduce a tax.

c.  Parliament can abolish a tax.
'd. Parliament cannot increase a tax.

e. Parliament can reduce a tax.

(1) a,cande ' (2) b,candd
(3) c¢,dande (4) candd
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63. YU YRU < Heuid Wieliedeht Hvrd foae e omed ?
A, aEdR FETghEel ¥ ye & TRl dher wyramed Igm STl
9. USHRRET T S0 THEETS SRR JToN THed $IB T EK TEUr.
&, W gheuT 1962 T ToAWE 3Tl
2. YT gL € GUT TEEN IO HEWS Y=t Tedre qreay IR,
(1 &, %= (2) o, % AT
(3) T H (4) ol ud
Which of the following statements regarding Zero Hour are correct ?

a. Zero Hour is an Indian innevation in the field of Parliamentary Procedure.

b.  The time gap between the question hour and the agenda of house is known as
Zero Hour.

¢.  This device has been in existence since 1962,

d. Itis aninformal device available to the members of the Parliament.
(1) a,bande (2) a,candd

(3) bandc (4) Al of the above

64. welie faum qamE wn : _
A, TN T favrdie W @ uree wiifirerd seew et 8 R T,
o, greear Y qHife srEun=a S | TSl JHIAY Bl
F. 1996 7 Haet I FAEE PESA ®RT WL He.
et i forere /e s sga ?
(1) 211« (2) = (3) wF A 4) afewd

Consider the following statements :

a. The provisions of Part IX of the Constitution relating to the Panchayats are not
applicable to the Fifth Schedule Areas.

b. At present seven states have Fifth Schedule Areas.

¢.  The Parliament has enacted the PESA Act in 1996 for such areas.

Which of the above statements is/are correct ?

(1) aandb (2) aandc (3) Onlya (4) Al of the above

65.  USTEIITA FIURAT herwed fge) I s areaw, @t Wraren wfbw wpdoar 64 9l
AREEAS Jen R SYERIE A5e o7 Ga Tomn T e samedt g e
fefi ang 7 _

(1) o™ 343 (2) Fod 348 (3y oW 350 (4) oW 351
Which Article of the Constitution provides that it shall be the duty of the Union to
promote the spread of the Hindi language, to develop it so that it may become the

‘Lingua Franca’ of the composite culture of India ?
(1) Article 343 (2) Article 348 (3) Article 350 {4) Article 351
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W Teaeen ga=n gRiremTel St wafterns aee, v, feerfteer sl gee anh

1
(2)
(3
(4)

favass sTed
fraaiwes sures
CUGIE R I e
W e 9 TReEaiees

The Second Schedule of the Indian Constitution mentions salary, allowances and
other privileges of certain officials. Which one of the following is not amongst those
officials ?

-(1)
(2)
(3)

4)

The Deputy Speaker of Legislative Assembly
The Deputy Chairman of Legislative Council
The Attorney General of India _
The Comptroller and Auditor General of India

67. TR v Taue/fae w0 smeq ?

AFENAT T8 T Fad ToqaHad THIS A TAEG JT5aTd.

gt it A 1 TS S HHIES H0ET HeTeTeh qiqg .

ekt e wTERT St T R T TN R FO
TR FvTEe Tt onfr STt omm S Fraevpbn waem %% weaw.
7 o o (2) ®Hamms

T | (1) wH

Which of the following statements is/are correct ?

1)
(3)

Only the Rajya Sabha and not Lok Sabha. can have nominated members.

There is a constitutional provision for nominating two members belonging to
the Anglo-Indian Community to the Rajya Sabha.

There is no constitutional bar for nominated members to be appointed as Union
Ministers.

A nominated member can vote both in Presidential and Vice-Presidential

elections.
aandb : (2) candd
Only b (4) Onlyec
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A, I ABEEIE ¥ 7 TS IR,
¥,  E ARIEEE ¢ § JSNeR .

it I :
(1) &R {(2) WA
(3) = ufor o A 4) 3 A ¥ A

Select the correct statement/s, _

a. Some democratic countries are republics.

b. Some democratic countries are not republics.

Answer Options !

(1) Onlya (2) Onlyb

(3) Bothaandb (4) Neitheranorb

69. U FH/FHYT ST :
. Tl TSaed g A iRt IuNeT Bar.
|, TREs TSI He TR SftesET SuH HarE.
%, Gehg sHedt (sAMed A T AT 399 Ba.
T, TR el Toamed §d IR it I ga.

A I
(1) %aw 3, q FAT & (2) e 30, T MO
(3) hed & MU & (4) %F A, & AT g

Select the correct statement/s,

a. A citizen enjoys all the civil rights in the State.

b. A citizen enjoys all the political rights in the State.
¢.  An alien enjoys all the civil rights inthe State.

d. An alien enjoys all the political rights in the State.
Answer Options :

{1) Onlya,bandc (2) Onlya,bandd

(3) Onlyaandb (4) Onlya,candd
70. 4G SHEHER wdl (TsaiE M) ¢

A e LA L

%, HUwE 3. HE

ot I

(1) 4,849, % (2) 8,9 &, A

3 =9 3A A (4) 3,4, 9, %

Arrange in appropriate order (formation of the States) :

a. Mizoram : b. Nagaland

¢c. Meghalaya : d. Maharashtra

Answer Options:

(1) a,d,b,c (2) d,b,¢a

(3) ¢d,ba (40 d, bac
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AR AR, R S5 e et s e A - . . B Asaw o, Spr— gt



71.

www.dompsc.com
kY|

F11

=1 forgor Sardia e 9=0 Taft et Fve Ry y&#ie o 2

(1) 2005mawﬂqﬁﬁamwﬁqa1@ﬁﬂwﬁuwmnﬁﬁﬁr&mmmBﬁmﬁ
e T30 < e et v,

(2) TN |fEd A @ 3= T ger e waw tams T30 < B S g

(3) weareaT 3= fhegw gardw Famrs 70 Yash e e o 3= e aEe g
R W eft R, A I e 3= feon wepfimor fame Faon (HEERA).

(4) [wTem F=E T T g fards oEEE oM (UGC) @ woie sifiraa e
T g5 R,

Qut of the following statements about the regulatory body in the field of higher

education, which is net correct ? -

(1) National Knowledge Commission under the leadership of Sam Pitroda in 2005

had proposed independent regulatory authority for higher education
institutions.

(2) Yashpal Committee recommended smgle independent regulating authority for
higher education institutions.

(3) Central Government has proposed to replace present regulatory bodies in the
field of higher education with a single regulatory body called Higher Education
Empowerment Regulation Agency (HEERA).

(4} University Grants Commission (UGC) is the only existing regulatory body in
higher education at present. '

72,

ydiarteh! ar faumA faer
H,  RARE TPl U TR TIREEENT UH YHT il it ITeey 3.

q. IR AR GEEAENR Sl ol e A W 3 : 1000 (1000 <Rt
3 SE) AW M.

W"I‘?ﬂfﬁﬁ:
(1) wFd A (2) %I E
(3) 3t anfor § SEE 4) =1 anfor 9 =Y T

Choose the correct statement/s from the following :
a. India has less than one doctor per thousand population.

b. The World Heath Organisation prescribes a minimum doctor — population ratio
of 3 : 1000. (3 doctors for 1000 people)

Answer Options :
(1) Onlya : (2) Onlyb
(3) Bothaandb (4) Neitheranorb

FEEYT FHTHIST ST / SPACE FOR ROUGH WORK P.T.O.
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73. VAT T BROE @@l Ft dior g9 famitd wom e g e 7

1)

3 U W= Tl 39 2w oo onfian-aTiftes wewmet e 23,

(2) 3 YR g2 MY YSTR WMUH AEETE I
(3) g anf¥rn-dfife st fme= S gurie suEiE qEEr e o,
(4) M SR Fdvfid T EER wa iR onfh wid el e

UG AT STevaridl T 31t wverl ReasiaETE R Fe AT,

Which of the following statements is incorrect ahout India’s ‘Act. East Palicy’.

(1
(2)
(3)

CY

This policy focuses on the extended neighbourhood in Asia-Pacific region.

This policy was originally conceived as an economic initiative,

This policy promotes enhanced connectivity to Asia-Pacific region through
North-Eastern Region. '

This policy promotes proactive diplomacy with political and military
intervention to curb insurgency in the Asia-Pacific and Indian Ocean Region.

74. meﬁﬂaﬁuﬁﬁmw
A, § YEHR T TR g0 1952 IET TEINE SR,

q. 1982 =41 IFIGL AR T Fdldee fEem ana g

. M FEH Al ArgEEe e s

8. 2017 91 [WEHR HE Hied! A Gifva e 8.

el Frorft favm st smee 2

1 R, aAafF . 2) 3, FaMre
(3) wafrs (4 1,9 safrs

Consider the following statements about ‘Jnanpith (GyanpithY Awards :

a,
b.

c. .

d.

Sponsored by the Government of India since 1952.

Prior to 1982 it was given for single work of a writer.

Now it is given for lifetime contribution of the writer.

Award for the year 2017 has been declared to Krishna Sobti.

Which of the above statements are correct ?

ey

3)

a,band ¢ (2) b,candd
aandd 4) a,b,ecandd

75. 1531 fad WA= 1y o7 3RA 7

(1) @& fm (2) WA, fsr
3) W%, oA (4) .. cnft
Who is the Chairman of the 15th Finance Commission ?

(1) NK. Singh . ~{2) N.K Mishra
(3} N.K Rajan (4) N.K Tyagi
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76. ﬁﬁaﬁmﬁﬁﬁaﬁmﬁaﬂmwﬁﬁm(mm)ﬁw%ﬁvﬁﬁm: gaie R ?

(1)
2
(3)
4)

71 Wit W geEt ARa.
T VIR ST 1975 |iedt s AR,

mmﬁﬁmﬁw,wﬁnﬁ,wﬁw&mﬂwﬁwmﬁwﬁ@w
TEIOIET YO HOTE .

Which of the following statements about Mumbai Metropolitan Region Development
Authortty (MMRDA) is false ?

(1)
2)
(8)
4)

Chief Minister is the Chairman of this authority.
This agency was established in the year 1975.
Metropolitan Commissioner is an appointee by the Government of India.

This agency brings about improvement in sectors like transport, housing, water

supply and environment in the region.

v7. Sl Wﬁﬁzmwﬁaﬂmﬂﬁmm@ E ?

o)
(2)
@
@

3 ¥ (T i R e heg) 3 T A,
e fo2 e e 4,

3 i o vxdE dee 8.

& UGC =1 srawae) Pt aneft.

Dr. Dhirendra Pal Singh was recently in the news. Which is nof true about him ?

(1)
(2}
3
(4)

He was the director of NAAC {(National Assessment and Accreditation Council).
He was the Vice-Chancellor of Banaras Hindu University.
He was the Director of Indian Institute of Science.

He has been appointed as the Chairman of UGC.

FeoqT HTRINE! SN / SPACE FOR ROUGH WORK : P.T.O.
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78. wEOd . SIS HAM G AEW FT FAE Hefva o ?
(1) - nfgard wrmdie = fhem s Wi SRR QR
(2) igamw v Tt et R e 9w HEn gEarEeE.
(3) nfear W miEdt snfor R AT ERE e A,

(4) IFETE BiERAT IHE ATER [EIETED.

In Maharashtra, Dr. Abdul Kalam Amrut Ahar Yojana is related with
(1) Providing square meal in higher education institutes in the tribal areas.
(2) Providing square meal to the needy students in the secondary schools in the

tribal areas.

(3) Providing square meal to the pregnant and lactating mathers in the tribal

areas.

{4) Providing square meal to Anganwadi Sevikas.

79,  SiS @mET:

(&)

H Wit e

9. T e

%, o Qe

€. T amEm
& |

1 Iv 111

2 v 11

3 Ul v
(4)y I A

Match the pairs :
(Author)

Shashi Tharaor
Raghuram Rajan
Somini Sengupta
Vivek Shanbhag
a b

1 Iv I

2) IV 11

(3) 11 v

4) 1 | A%

e T

1
111

C
I1
I
1
I

b bl bl g

l-lt—il—in_

11

I1.

ITL.

(557
g7 Gt

Z w3 3 #5f
37 § FIe 3T Z
g 37 3% SrE

(Books)
I.  Ghechar Ghochar
II. The End of Karma
II1. I Do What I Do
IV. An Era of Darkness
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80. 2017 Fifgw Aet WiEE g SR i e amt. et St wftcrgd @
gt ?
o, RIwITEETE . w  giT g W Rew
&, 37 e HiF g W o 3. AT T
3. IV ST T WA
it I ; |
(1) ,9,%,3,%5 (2) I,F3e (3 q,FaNg - (4 sy
Kazuo Ishiguro is awarded with Nobel Prize in literature in 2017. Which of the
following are not his works ?
a. - The Remains Of The Day b. A Pale View Of Hills
c. An Artist Of The Floating World d. Norwegian Wood
e. Kafka On The Shore :
Answer Options :
(1) a,b,e,d, e, (2) b,candd (3) b,cande (4) dande
81. Irghy um e,
A, oW I T @ TR @ 32 2011 wed i el el
T, il Il SR WY 9itg g8 39 2016 W AT Hefl .
. . 9aEdl Ffas aet 9E vieg gt 39 2017 7 s el e,
M = 2) ¥ 3 ® (@) FhE woRd T
Select the incorrect statement.
a. The first Global Conference on Cyber Space was held in London in 2011.
b.  The fourth Global Conference on Cyber Space was held in Budapest in 2015.
¢ The fifth Global Conference on Cyber Space was held in Delhi in 2017.
(1) a ) b (8) e (4) None of the above
82. iy Ram fas.

A, el Tt 10t HRE Ah A TERE oy fiTw TevE grsen .

q. FRTe AR SR 37 2017 R @6 ‘wmren e Rt s’ @ did).

3 ﬂﬁﬁﬁﬁ?@ﬁaﬁﬁﬁmmﬁ#maﬁwﬁﬁ

3. 2017 wES AMTAS AR Raweh Swew ‘Ao’ sft B |

1V = 2 3 3 =* (4) et wvRd TH

Choose the incorrect statement,

a. The World Mental Health Day is observed on 102 QOctober every year.

b. The theme of 2017 World Mental Health Day was ‘Mental Health at the
Workplace’. :

c. The World Health Day is celebrated on April 7th every year.

d. The theme of 2017 World Health Day was ‘Depression’.

(1) b ' (2) d 3) c (4) None of the above
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83. WA THAH 5 HiFEWT ¥ 25 FEt 2017 W 21 RFwi wwws 3 GRS

Fem.

(1) e od (2) oAl YuEs

(3) T cHieT ud (4) TR AR SR shEE

From 5t October to 25t October 2017 — this period of 21 days was celebrated by the

Government of India as

(1) Paryatan Parv | (2) Swachhata Pakhwada

(3) National Integration Parv (4) Mental Health Awareness Abhiyan
84, W VAT WRA ¥ W ATEP! FpE ¥ wEdia am.

(1) wrdrdter arfior ey get wrmwes FTeae §a gE
(2) "l 74 3= Rl Frarn srede e g
(3) WA T 1ed Ry siede o gEe
(4) WRAKNS Hd GG ST Feds W9 @0

‘Bharat Net’ is a flagship programme of the Government of India

(1) To provide broadband services in rural and remote areas in India.

(2) To provide broadband services in all higher educational institutes in India.
(3) To provide broadband services in all railway stations in India.

(4) To provide broadband services to all government hospitals in India,

85. WENIY WEATH GHidaTd gt TR Afen awiwnr e s gafin am 2
(1) (M T Aded1) T BiEe CREETI e S AqEH SoaEEd
@ e S e e e
@) s snfor A e ween e B AR
4) RN A A 4% 0N %9 TEeT H

Government of Maharashtra’s Sumatibai Sukalikar Udyogin}. Mabhila
Sakshamikaran Yojana is related to -

(1) Interest subvention to eligible women Self Helf Groups
(2) Loan facilities to women entrepreneurs to buy land
(3) Tax waivers for women entrepreneurs in Mumbai and Nagpur

-(4) Loan with 4% interest to women Self Help Groups in Maharashtra
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86. TR HOTN T TN WEGE o ugE) vaed ?
(1) <80 Ag< (2) T
(3) FHERA (4) Th
Who from the following Gupta kings took the title of Mahendraditya ?
(1) Chandragupta II (2) Samudragupta
(3) Kumaragupta (4) Skandagupta
87. s o
A agw . EAx
LA b II. X aga FO .
%, ol - L. yeren gt srard
T, foumn IV. 969 3fe Raem W e o #AcHees
it I
| q L] B
1 v III 11 I
(2) II I 14" ITT
3@ I I I v
(4) TII v I IT
Match the following :
a. Takshan 1. Carpenter
b. Bhagadugha®~  II. Collector of taxes
c. Kshattri III. Chamberlain
d. Vidatha IV. An assembly in which both men and women
participated
Answer Options :
a b c d
n v IO II I
2 1 I v 111
3 I I III v
4) 1III v I i |
AT PTARATS! SN / SPACE FOR ROUGH WORK P.T.O.

- . n o Hm e el G < e LR,



.. www.dompsc.com

88. et feumran feam S0 3 IO 9w vl fEE
. mﬁmmmmmmmmw

AT A e FEes s amga.

4. UORIFWE SRR 9 Fies, Femmeudia aiesa, SR, wor, seg i ammm e
T Fe e s,

Tt I

(1) D feam e A
(2) 4 foam g amea
(3) g™ o1 st IR, wq favm 7 e oM
(4) a9 & steR 3118, WY Faum o b e

Consider the following statements and choose the correct answer option :

a. The relics of Chaleolithic civilization were found at Jorwe, Nevasa, Daimabad,
Chandoli, Songaon, Inamgaon, Prakashe, Nasik, etc. in Maharashtra.

b. The relics of Chaleolithic civilization were found at Ahar and Gilund in
Rajasthan and Malwa, Kayatha, Eran, etc. in Madhya Pradesh.

Answer Options :

(1) Both the statements are correct

(2) Both the statements are incorrect

(3) Statement a is correct but statement b is incorrect

(4) Statement b is correct but statement a is incorrect

89,  TUH I YeIeTaeh! VI e Bl ?
qifka o Rt
(2) favahs 7 wa smE
(3) ggw aafie
4) =9 favafim
Dasharadnya Yuddha (war) was fought between whom from the following ?
(1) Purchit and Vishwamitra
(2) Vishwamitra and Bharat tribe

{3) Sudas and Vasishtha
(4) Puru and Vishwamitra
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90. GelAl FHuen feeram ane FwE T =) qiedl A ?
1) 2R frererg
(2) g FeeE
®) R e
@) e frereiE
Which of the following edicts have information about Samrat Ashoka’s Dhamma ?
(1) Minor edict '
(2) Bhabru edicts
(3) Kalinga edicts
(4) Fourteen edicts
91, ST WhieN TSR AR S 9 WAl TS FieT el e
3., IOy [. vy
& qfdemay | II.  gauifirdt
% TEoa - 1. Isafr
3. iy V. asfRrem
H q w® T
(L 11 111 v I
2 I v II 1
3 Iv III I II
(4) I II v I
Match the four provinces in Chandragupta Maurya’s kingdom with their capitals :
a. Uttarapatha I.  Patliputra
b. Paschim path II.  Suvarnagiri
¢. Purva path III. Ujjayini
d. Dakshin path IV. Takshashila
a b c d \
1 II III v I
2) I v IT III
3) IV I I II
(4) I II v I
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92. wille anae =t Al
3, gﬂqﬁrﬁmmﬁmﬁ
F. ﬁzﬁzﬁmwmﬁ@maaﬁz@ammmw
T “adl dnfaed el fosie Ry S weRn .

gt T ;
(1) sf|a 2) wfw
(3) T (4) <z UE

~ Identify the person from the following description :
a. Founder of a great empire.
b.  Cultured, scholar and a poet.

" ¢. The famous poet Harisena was his court poet and Buddhist scholar
Vasubandhu was in his court.

d. Vincent Smith praises him as the ‘Indian Napoleon’.

Answer Options : ‘
(1) Harisena (2) Kanishka
(3) Samudragupta (4) .Chandragupta Maurya

93. @relie faaunae syt e
., WA IANN TR THS T
7. @ Wt arg T qed) St g
. S HHRAT TeaiEt TR O AR gear .
B TOTEAT SN A GEU & AHEa St g,

Tt I ;
(1) SFeaaT (2) WEE qaeH
(3) o1grdR Raesh (4) FqEEH T ®

Identify the person from the description given below :

a. He destroyed the dominance of Ulemas in the State.

b. He was a mighty warrior and a successful general.

¢c. He was supposed to be the first Sultan to attack the Southern kingdoms.
d. The famous poet Amir Khusro was in his court. '

Answer Options :
(1) Altamash _ (2) Muhamad Tughlaq

(3) Alauddin Khilji (4) Qutubuddin Aibak
oG] HHTHIS TN / SPACE FOR ROUGH WORK '
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94. Wie o S e ;
A, AT ‘AN q TGl Qv AT g,
9. e ERE e Mfirg den) 4t @A
F. A’ AER TR @ T $ B
3 fagt, el w1 GEEEE GeErs T Fahea | wda fig o g
(1) T T (2) YorhEt yum
(3) vften w=F 4) FOLEHA
Identify the person from the description given below :
a. He was given the title Andhra Bhoj.
b. There were eight famous Telugu poets in his court.
c.  He established the city called ‘Nagalapuram’.
d. He was the only Hindu king to conquer the capitals of the Muslim kingdoms of

F11

Bidar and Gulbarga.
(1) Rama Deva Raya (2) Pulakeshi I
(8) Parantaka I (4) Krishnadeva Raya

95,  2IY GEAM I U WA FieredT Mg I5 el S TW\g FeEa? ?
(1) g g @ W WA DI T U e,
(2) R Fme R T Su T,
@) Aot IR P TR el T
(4) g3 AT BT HiHR S

Which one of the following provisions was not involved in the treaty of
Shrirangapattana between Tipu Sultan and the British ?

(1) Tipu should give the war expenditure worth three and half crore rupees to the _
British. ' :

(2) Tipu should give half of his State to the British.

(3) Tipu's two sons will be hostages of the British.

(4} Tipu should accept Subsidiary Alliance.

96. FEt T Sy e wad S fem Al we e R

(1) go™ <5 9% (2) Wed FMI
(8) ot wae (4) vt HooEEt
had also founded ‘Free India Centres’ in Rome and Paris.
(1) Subhash Chandra Bose " (2) Madam Cama
(3) Annie Besant ' (4) Shyamji Krishna Varma
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97. YIS AT e gl e T 2
A, ot mefolh w s A
7.t faflw amom wgEh gertt S,
%. i & o wieln T e T .
1 FRefafa @) fr wrix
3 fmwr 4) frw i
Who is described in the following sentences ?
a.  She was Gandhiji’s staunch disciple.
b. She was the daughter of a British admiral.
¢.  She was popularly known as Mira Behn.
(1) Sister Nivedita (2) Miss Carpenter
{3) Miss Slade {4) Miss Nightingale

98. Wretd faumEr feR =0 ' 390 a8 T4t fae

= ygde fafey ARe gemid wwee s wm wen sTeed aWene SEwvaTs!
AHTE o e 93ds FuErd! 71 3 Al

q. ¥ HA w0 P ReERE ER.

ot Iu

(1) Mﬁuﬁaﬂmaﬁmaﬁwm%mmm
(2) =R faom gehieh omRa

(3) T faum == Wy faum 9 favm @ = T wrfler @
(4) foam o1 S 9 Ty 9 9%

Consider the following statements and choose the correct answer option :

a. The new variety of activity in India therefore called for the transformation of a
traditionally and mentally subject society into one receptive to democratlc ideas
and responding to the call for agitation,

b. It was an arduous and stupendous task.
Answer Options :

(1) Both the statements are correct and statement b is the correct explanation of
statement a

(2) Neither of the statements is correct

(3) Both the statements are correct but statement b is not the correct explanation
of statement a

(4) Statement a is correct but statement b is Incorrect
e mmé’r SR / SPACE FOR ROUGH WORK
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99, YEITT TIEAT AU hole TUERTHTEH ®IU T el

.
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T
(1)

(2)

@
(4)

e afEe A= 2 a3 giER-AR v AT s w.
¥ YT A HEFa g weher .

I et Gt

i St

&, TR A

i e

Name the social reformer described in the following sentences :

His family believed in the teachings of Kabir who condemned the caste system.
His father served in the army and retired as a Subedar-Major.

' His satchel was untouchable for the lady peon in his school.

He could not study Sanskrit because he was an untouchable.
Mahatma Jyotiba Phule

Shri Javalkar

Dr. Babasaheb Ambedkar

Shri Gholap

100. T FEATA ST FASHERETS JUA B R ?

i FEfE YRt sfafnrr R e .

3T At drAb ST FETEE! 3 R aukRa Seeen i 8.
e ffe vedufgeen 3 Iufea #19.

ga wfrberd! ¥ ke wi.

3. aEERe AR (2) fage Toeh
wigATE e (4) =gUE

Name the social reformer described in the following sentences :

a.
b.

c.
d.

1)
(3)

He was the recipient of the American Unitarian Association Scholarship.
He had been to England for two years for the comparative study of many
religions. ‘

He attended the conference on religions at Amsterdam.

He used to write for Subodh Patrika.

Dr. Babasaheb Ambedkar {2) Vitthal Ramji Shinde
Bhaurao Patil (4) Baburao Jedhe

FHEeYT BHHIFIS SR | SPACE FOR ROUGH WORK P.T.O.

e amre ko G e el b bk e e e



F11

www.dompsc.com

(8) wyfRraed fafge Fee fafie wofie +=t #=m (@ 9d) =W, yyREsalaie Jauheka a1 @
FRIR F= FH $ed1d 9 FII FOITH] TR F AR, W T TEA 3 DHER SHGER TR
T Foem CrheEed g R Siee e Afubem-82” Add TEGTER HRAT
T I5d 9 Y = A U IEreAT ST STy / e 90w TR T 2Ere fiEm
91 Bde.

(9) TR TOEFEE ame fifta St d% TreaHT INGERET W AR e TR

USA AE RE R, AT wftermamanR Sroangei SHeERT et SeRareReT Wil
ARE RIS 7 R o w1 sravas e

¥. #%. 201,

q. 3. 201.

Al Wl
FAIE 916 T T HI qEa: T S 7
(1) @l e W (2) ¥ TR
@) T THHE Ta (4) TSP TrEe
T AT 3R I (3) T TET T IR IR, TS A1 WA W (3) B‘FEFr
TT GIATIE ¥ %, 201 9Wld JwsEws @) ¢ age pi swrifks e
FRERY ATTHEE L.

@ @ @ O
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IUWGFREE T w1 IR gaia 9@ P SR $F qrEanEn. g
EOT HTEAT AT AT Arar, S ar v U aE R,
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